
VI SEE A 
CONNECTED
WORLD

SOME SEE JUST A CABLE

CHANNELS & STRUCTURES



SOME SEE JUST A CABLE

WE SEE
ENDLESS
POSSIBILITIES

+45 6343 1545
We believe in direct communication

WHY CHOOSE SCANKAB?

•	 Full-line supplier of cables and cable management

•	 Day to day shipment / high security of supply

•	 Own production and development

•	 Cut in customer-specified lengths

•	 Special packaging

•	 Customer-specific products kept in stock

•	 Personal service



TABLE OF CONTENT
This product catalogue contains technical information about our wide range of channels and structures.

If you are searching for information about wire mesh trays, cable trays and cable ladders and related
accessories, please refer to our additional product catalogues. 

Contact us for more information on +45 6343 1545 or visit our webpage at www.scankabsystems.com

CHANNELS & STRUCTURES GITTERBAKKER

Cantilever Arm - C profile 41x21

Cantilever Arm - C profile 41x41

Cantilever Arm Pendent - C profile 41x82

Light Duty Channel (41x21)

Light Duty Channel (41x41)

Heavy Duty Channel (41x21)

Heavy Duty Channel (41x41)

Heavy Duty Channel (41x82)

4

4

4

5

5

5

5

6

ACCESSORIES

Plan Channel Nuts, Spring Channel Nuts and Screws 

Channel End Plug, Splice Plates

Angles 

Tee Joints, 3 Way Brackets 

Clamps 

Tee Brackets, Channel Floor Boss

6

7

8

9

10

11

INSTRUCTION MANUAL

Instruction manual 13

SCREWS & NUTS

Screw, Nut, Allen Screw 
Washer

16
17

    SIDE

3



4

CHANNELS & STRUCTURES

a 100-1000

A L Ref kg/u e   u

E
Z

100 155 82002600 0,461 1

200 255 82002601 0,607 1

300 355 82002602 0,752 1

500 555 82002603 1,040 1

1000 1055 82002604 1,770 1

H
D

G

100 155 82002605 0,485 1

200 255 82002606 0,641 1

300 355 82002607 0797 1

Cantilever Arm - C profile 41x21

Cantilever Arm - C profile 41x41
a 100-1000

A L Ref kg/u e   u

H
D

G

200 255 82002608 0,931 1

300 355 82002609 1,200 1

500 555 82002610 1,750 1

600 655 82002611 2,020 1

800 855 82002612 2,570 1

1000 1055 82002613 3,110 1

3
0

4

200 255 82002614 0,881 1

300 355 82002615 1,140 1

500 555 82002616 1,650 1

600 655 82002617 1,910 1

31
6

L

200 255 82002618 0,881 1

300 355 82002619 1,140 1

500 555 82002620 1,650 1

600 655 82002621 1,910 1

Cantilever Arm Pendent - C profile 41x82
a 100-1000

A L Ref kg/u e   u

H
D

G

500 555 82002622 3,440 1

600 655 82002623 3,980 1

800 855 82002624 5,070 1

1000 1055 82002625 6,160 1



5

CHANNELS & STRUCTURES

30
00 Ø14x28

41

41

1,
5

30
00 Ø14x28

41

20
,5

1,
5

30
00 Ø14x28

41
20
,5

2,
5

30
00 Ø14x28

41

41

2,
5

e Ref kg/m e   m

PG 2,5 67030053 2,561 3

HDG 2,5 67030057 2,561 3

316L 2,5 67060057 2,541 3

e Ref kg/m e   m
PG 1,5 67030075 1,211 3

e Ref kg/m e   m

PG 1,5 67030074 1,681 3

e Ref kg/m e   m

PG 2,5 67030052 1,901 3

HDG 2,5 67030055 1,803 3

316L 2,5 67060055 1,735 3

Heavy Duty Channel (41x41)

Light Duty Channel (41x41)

Light Duty Channel (41x21)

Heavy Duty Channel (41x21)



6

CHANNELS & STRUCTURES

82

41

30
00 Ø14x28

2,
5

e Ref kg/m e   m

HDG 2,5 67030157 5,292 3

8

35

20

A

M10

20
8

35

M

  •  41x21  •  41x41

M Ref kg/u e   u

EZ
M6 67020055 0,031 100

M8 67010056 0,031 100

HDG
M6 67030054 0,038 100

M8 67030056 0,031 100

316L
M8 67060056 0,031 100

M10 67060058 0,031 100

  •  41x21  •  41x41

A Ref kg/u e   u

EZ
21 67020058 0,031 100

41 67020158 0,031 100

HDG
21 67030058 0,031 100

41 67030158 0,031 100

8
20

41

30

M10

35  •  41x41

Ref kg/u e   u
HDG 67020159 0,023 100

Heavy Duty Channel (41x82)

Spring Channel Nut

Plan Channel Nut

Spring Channel Screw



7

CHANNELS & STRUCTURES

A

38

46

15

 

  •  41x21  •  41x41

A Ref kg/u e   u
41 68000074 0,021 50

21 68000075 0,021 100

181 44

43

6

49
56

Ø14

  •  41x41  •  41x82

Ref kg/u e   u
HDG 67030214 0,291 1

40
6

184

Ø14

  •  41x21  •  41x41

Ref kg/u e   u
HDG 67030205 0,241 1

j Z 38  M0B

j Z 38  M01

j Z 38  M02

Channel End Plug

U Shape Splice Plate nº2

Splice Plate nº1 



8

CHANNELS & STRUCTURES

50
40

50

6

Ø14

  •  41x21  •  41x41

Ref kg/u e   u
HDG 67030201 0,151 1

95
40

95

Ø14

6

  •  41x21  •  41x41  •  41x82

Ref kg/u e   u
HDG 67030202 0,321 1

450

6

35
39

125

Ø14

  •  41x21  •  41x41

Ref kg/u e   u
HDG 67030210 0,291 1

450

63

39
66

6Ø14

  •  41x21  •  41x41

Ref kg/u e   u
HDG 67030209 0,151 1

j Z 38  M03

j Z 38 M04

j Z 38 M05

j Z 39  M06

90º 2 Hole Angle Bracket nº3

90º 4 Hole Angle Bracket nº4

45º External Angle Bracket nº 5

45º Internal Angle Bracket nº 6



9

CHANNELS & STRUCTURES

88
6

88

Ø14

  •  41x21  •  41x41

Ref kg/u e   u
HDG 67030211 0,291 1

6
51

10
5

90

Ø14

  •  41x21  •  41x41  •  41x82

Ref kg/u e   u
HDG 67030204 0,451 1

140

90

6

Ø14

  •  41x21  •  41x41

Ref kg/u e   u
HDG 67030203 0,311 1

6
11
4

114

Ø14

  •  41x21  •  41x41

Ref kg/u e   u
HDG 67030212 0,291 1

j Z 39  M07

j Z 39  M08

j Z 39  M09

j Z 39 M10

L Bracket nº 7

90º Tee Joint nº 8

Flat Tee Joint nº9

3 Way Bracket nº10



10

CHANNELS & STRUCTURES

48
10
1

101

Ø14

  •  41x21  •  41x41  •  41x82

Ref kg/u e   u
HDG 67030213 0,291 1

21

41

6

40

142

Ø14

  •  41x21

Ref kg/u e   u
HDG 67030206 0,284 1

6

8187

141
41

40

Ø14

  •  41x82

Ref kg/u e   u
HDG 67030208 0,151 1

6
4147

40

142
41

Ø14

  •  41x41

Ref kg/u e   u
HDG 67030207 0,336 1

j Z 39  M11

j Z 39  M12

j Z 39 M13

j Z 40 M14

Reinforced Angle Bracket nº11

Clamp 41x21 nº14

Clamp 41x82 nº13

Clamp 41x41 nº12



11

CHANNELS & STRUCTURES

50

90

49

39

90

49

Ø14

6

  •  41x21  •  41x41

Ref kg/u e   u
HDG 67030215 0,291 1

98

90

39

44

138

36

43
6

Ø14

  •  41x21  •  41x41

Ref kg/u e   u
HDG 67030216 0,291 1

15
0

150

45

43

10
6

Ø14

  •  41x21  •  41x41

Ref kg/u e   u
HDG 67030064 1,451 1

15
0

94

84

150

42

Ø18 Ø14

  •  41x21  •  41x82

Ref kg/u e   u
HDG 67030164 2,901 1

j Z 40  M15

j Z 40  M16

j Z 40  M17

j Z 40  M18

Double 90º Bracket nº15

90º Tee Bracket nº16

Channel Floor Boss 41x41

Channel Floor Boss 41x41



12

CHANNELS & STRUCTURES

  •  41x21  •  41x41  

Ref kg/u e   u
HDG 67030102 0,351 1

  •  41x21  •  41x41

Ref kg/u e   u
HDG 67030101 0,351 1

j Z 40  M19

j Z 40  20

Adjustable Angle Bracket

Channel Beam Clamp



13

INSTRUCTION MANUAL

1

2

M10x35 x4	 j Z 39

x4	 j Z 28

M10x35 x2	 j Z 42

x2	 j Z 31

M10x35 x2	 j Z 42

x2	 j Z 31

M10x35 x2	 j Z 42

x2	 j Z 31

M10x35 x4	 j Z 42

x4	 j Z 31

j Z 32j Z 32

j Z 33

j Z 33

j Z 32

j Z 33

M0B

M02

M04

M01

M03

M05



14

INSTRUCTION MANUAL

M10x35 x2	 j Z 42

x2	 j Z 31

M10x35 x3	 j Z 42

x3	 j Z 31

M10x35 x4	 j Z 42

x4	 j Z 31

M10x35 x4	 j Z 42

x4	 j Z 31

M10x35 x4	 j Z 42

x4	 j Z 31

M10x35 x4	 j Z 42

x4	 j Z 31

M10x35 x3	 j Z 42

x3	 j Z 31

M10x35 x3	 j Z 42

x3	 j Z 31

j Z 33

j Z 34

j Z 31

j Z 35

j Z 34

j Z 34

j Z 31

j Z 35

M06

M08

M10

M12

M07

M09

M11

M13



15

INSTRUCTION MANUAL

M14

M16

M20

M17

M19

M10x35 x3	 j Z 42

x3	 j Z 31

M10x35 x4	 j Z 42

x4	 j Z 31

j Z 36

j Z 36

j Z 37

j Z 37

j Z 35

j Z 36

j Z 36

M10x35 x2	 j Z 42

x2	 j Z 31

M10x35 x4	 j Z 42

x4	 j Z 31

M10x35 x5	 j Z 42

x5	 j Z 31

M10x35 x3	 j Z 42

x3	 j Z 31

M18

M15



16

SCREWS & NUTS

M

 60-85-100-120 •   100-1000

M Ref kg/m e   u

EZ
M10 67020079 0,008 100

M8 67020095 0,005 100

HDG
M10 67030014 0,008 100

M8 67030062 0,005 100

316L
M10 67060014 0,008 100

M8 67060062 0,005 100

L

M

 

M Ref kg/m e   u

EZ
M10x20 67020065 0,030 50

M10x35 67020097 0,029 50

L

M

 60-85-100-120 •   100-1000

M Ref kg/m e   u

EZ

M8x20 67010065 0,014 100

M8x35 67010066 0,020 100

M8x15 67010068 0,013 100

M10x60 67020010 0,042 100

M6x15 67020054 0,008 100

M10x20 67020059 0,023 100

M10x35 67020077 0,029 100

M8x65 67020092 0,040 100

HDG

M10x60 67030010 0,042 100

M10x20 67030059 0,023 100

M8x20 67030065 0,014 100

M8x35 67030066 0,020 100

M8x15 67030068 0,007 100

M10x35 67030077 0,029 100

316L

M10x60 67060010 0,042 100

M10x20 67060059 0,023 100

M8x20 67060065 0,014 100

M8x35 67060066 0,020 100

M10x35 67060077 0,029 100

Hexagonal Nut

Allen Screw

Hexagonal Set Screw



17

SCREWS & NUTS

M

M Ref kg/m e   u

EZ
M10 67020061 0,002 100

M8 67020083 0,002 100

HDG
M10 67030013 0,002 100

M8 67030063 0,002 100

316L
M10 67060064 0,002 100

M8 67060063 0,002 100

M

M Ref kg/m e   u

PASSV

M8 67020084 0,001 100

M10 67020086 0,001 100

M10 67060086 0,001 100

Washer

Serrated Washer



We believe in
direct communication

Scankab set out as the cable industry’s
answer to ”garage rock”
 
From the outset in 1992, Scankab was the rebel of the cable

industry. The business sold cables from a small garage store

room and challenged the cable market. Today, it is still part of the

company’s DNA to set new standards for the industry.

Scankab develops, manufactures and supplies quality cables and

cable management to electrical contractors, industry, marine

& offshore, infrastructure and energy. The range includes more

than 3500 stocked cable types. Scankab has its head office and

warehouse in Aarup in Funen and its subsidiaries in Norway and

Sweden.

Denmark
Tlf. +45 6343 1545
www.scankabsystems.dk

Sweden
Tlf. +46 730-344 606
www.scankabsystems.se

SV
AN

EMÆRKET

Tryksag 
5041 0072


